1 .Translate the statement: WHILE ( 1 < P ) AND ( P < 3 ) DO P := P + Q  into:

    (a) an abstract syntax tree         

    (b) quadruples

    (c) triples

    (d) indirect triples

2. We want to optimized the code fragment on the left side by removing the loop invariant calculation out of the loop. Show how it could be done using  indirect triples.

for i:=1 to 10 do         <->            
a:=b+c

begin             
(optimize)        
for i:=1 to 10 do

a:=b*c;                        

begin

d:=i*3;                            

d:=i*3

end                                 

end

.                                   

.

.                                   

.

end;                                     
end;

Skica rešenja (prilagoditi sintaksu onoj koju sam u predavanjima pominjao).

The triples for the original unoptimized version might be:

(1) := 1 i

(2) * b c

(3) := (2) a

(4) * 3 i Execution Order: 12345678

(5) := (4) d

(6) + l i

(7) LE I 10

(8) IFT go (2)

